¢ TIAVE 7" ; Toll sl PHGNE///IZ//S,, ™ /D55 |]S.} AR DR
ADORESS LUBRICATION ]
AFTTISAN AUTOMOTIVE, LLC .
@801 E. GARY RD 2ND AUTHORIZED NAME PHONE i 0:L .
BCOTTSDALE, AZ 85254 CHANGE Q1L FILTER CART. ||
480-286-4301 (MOBILE) M MODEL EAR RECEIVED (DATE &TIME)  AM. CHANGE TRANS. O
Mﬁyw /19:://%7" S"‘(ﬂ»“’ /735 BN, CHANGE DIFF ]
SERAL#MIN 7 ENGINE NO. PROMISED (DATE&TIME)  AM.
M. PACK FRONT WHEEL BRGS [
MATERIAL USED CDOMETER [LICENSE NO. TERMS PHONE WHEN READY ADJUST BRAKES N
LL PANTS NEW UNLESS SPECIFIED: U-USED. R-REBUILT, RC-RECONDITIONED WRITTE [:l YES D NO ROTATE TIRES D |
o HESTTPT A T MvE ORDER WRITTEN BY CUSTOMER'S ORDER NO. o = =
3 |\ Artisteesk 7/t gr e (1|
I | baltey bpbia_r2v B2/ 153 CHARGE FOR HAZARDOUS OR OTHER WASTE REMOVAL* §
i ﬂ/ ‘f";\ Adelilos 2 BN x| frdugden Conplere Aelenldd ¢ Laygoor? poc’s » Zny w1 O07]
/| 6t P T — U3 el Calor st ¢ ¢ PmeihT N2 -uS
5|00 Vol finie_facry fisi Zine :7/' & fackasiiy Crathes VS For Shpmens
. 77 ool 1 Lat Out - Pl L o ol y V—W ;'.rSA..,,.__,
NVew Botln,
itad!  pleed covns o Sppane .
letvn @ Aoewze v [l J‘ﬂ-j,
Y/ pn| ZIAB S ropan b 3985 00
Esti 1cost$ Estimate Charge E
Basis for Charge
! PLEASE READ CAREFULLY, CHECK ONE OF THE STATEMENTS BELOW, AND SIGN: ; o o e o
OUTSICE REPAIRS 5 | UNDERSTAND THAT, UNDER STATE LAW, [ AM ENTITLED TO A WRITTEN ESTIMATE, ; p‘ ﬁﬁ ro‘j TR o o 0 g ka0
, ,‘_o‘b"" jez— ) Kerorr| 57, ?f INCLUDING A COMPLETION DATE, IF MY FINAL BILL WILL EXCEED $100. ($50 in Maryland) R
M C/5TR0 Above 21T T 5500 ot | REQUEST A WRITTEN ESTIMATE. THE FINAL BILL MAY NOT EXCEED THIS ESTIMATE
FA&gfﬂ? ou? bovad 66 4, 20 WITHOUT MY WRITTEN APPROVAL. pu'r;n oo F B, et AR sl i e
gutsiple Labor ( Lown ) /\36o.%» — | DO NOT REQUEST AWRITTEN ESTIMATE, AS LONG AS THE REPAIR COSTS DO NOT ‘qu, fen s hereby acknoufedged e St M.] o Suwre'ﬁﬂffmunl
! EXCEEDS_ . THE SHOP MAY NOT EXCEED THIS AMOUNT WITHOUT o e e e enare o crticn e o
- MY WRITTEN OR ORAL APPROVAL.
- BROUGHT FDHWAHIJ[ 7; 57;. 3y
ol TOTAL PARTS g §— | DO NOT REQUEST AWRITTEN ESTIMATE. SIGNED
LA | ACCESSORIES *Checked lines apply (Preparer must check at least one): DAHE
— Tl e ot st ot O Sl oo G755 70
__ Thisamount includes a chargeof § | which is required under Nc‘charges shall acorue or be due and pay-| TOTAL PARTS 625783‘.
law. g?fn::?irr:ugﬁm of 3 warking days from date ACCESSORIES
METHOD OF PAYMENT: GAS, OIL, & GREASE PRIGE | o BAS, OIL, & GREASE Go.co
Do Cloveck  CIORE |0 s et @ odwd| 77 ¥o N | owmsoerenrs /7575537
[LSEFOLRAT RATE CTHOURLY [JBOTH s STORAGE FEE f appley)” .
ey | \BS.GREASE @ f fﬁ?m& i TAX /.97
OT0010/GT3811 / T-3569 TOTAL ACCESSORIES )\[:] RETAIN PARTS [ DESTROY PARTS TOTAL GAS, 0|.|_, & GREASE ?0 y 0 | miesce TOTAL AMQUNT 2 / S’Z SI’ /ﬂ



/> ,\r\\Jb\Q\ ?i.wnﬁ@m‘\%\b\(

5y A
wvp] i Alpat PR {ﬁ&n\ I9Z antjonfsA M@Z "aqgn} pue abueyo pinj4{ ‘¥ o~
545000 joaympvisns + 2 LSOIR ISJBWS — saJeds IO} SIBA0D [B9YM, ' -

jv LS 2of®D || 1mgGa)/ ¢Buiuado jou sepejq Jojeipey ‘Z -

prmg e 743 d-wa UMOP ABM 7 Jnoge SHY sYes| sjoy uid Z — Jojeipey |

V1EY

/07 pIaodid \S)%nbw\



usplawJan a1 buljplag lig enaypn

L099Z894FESOTIN U A LS

JooAa DNINTHTY Nz IN Qv :9pod DIg
GE 9806 6950 OGVY 807N U Nvg|
GE9'80'466°9E Ianjueg

Pmm?} wLUmv_mUOI uﬁcmn_On_mw_
C._Ou.v_mm_n_...sgg “mu._mn_m?z
F_Ou.v_mm_ﬁ©0+c_ “__.mEum_

¥t O£ 09 98L(0)LE+ xed

78 £1 09 98L(0) 1§+ ucoele]
bcmtmﬁwz _U.hoor_mc_wi d\u_ .vNNm
g1z 1500 Ylipasyee|g

IANAVVI1d,

A[T4AdaNIINILVIAV Y




T '

(TAME PHONE ™
v//och 3
ADDRESS . bt 02// s/ LUBRICATION O
CHANGE OIL | :
2ND AUTHORIZED NAME PHONE :
CHANGE OIL FILTER CART. [ ] ;
Vorllssey er %blh »4».-/ o X e i e odae o "y :::22 :::FNS E]
SERIAL #/VIN ENGINE NO PROMISED (DATE & TIME) A M. - :
PM. PACK FRONT WHEEL BRGS [ i
ODOMETER LICENSE NO TERMS HE‘]ovN:s wueENl :E:DV ADJUST BRAKES O
ORDER WRITTEN BY CUSTOMER'S ORDER NO. ) b b 0l §
WASH POLISH O
- OPER. NO. INSTRUCTIONS STATE INSPECTION O B
glvrelifeyssy vy 7‘_5’; e & CHARGE FOR HAZARDOUS OR OTHER WASTE REMOVAL* i 5
' res
. gfjg“’” : L Landle Toe  fligear d 20, Fix |
oot el b Ly wogendte wheel (Znt.rean Sioli Govas) iy prrew Pras |
2 EW o jet S5 Ko
z wnste boe F~e 3. flesrihe Ioroleglon. v Checd s My pn & Lons and
2 alves, W&,‘ M.otuf So e M.ﬁ,.._a—-c—c Padcolim . mc}\ Coadst ConzX amof
< L’,.,,,_,} = /J”J‘*—} Yl Tohn Pulltock (ead. 5
For CosT ¢ pelihit i
Estimated cost§. cotmate crarge 22 Ara— L Lol E 75 rpn & = Yéso ~
Basis for Charge i
PLEASE READ CAREFULLY, CHECK ONE OF THE STATEMENTS BELOW, AND SIGN: 4 e R ek B e e b R
OUTSIDE REPARS | UNDERSTAND THAT, UNDER STATE LAW, | AM ENTITLED TO A WRITTEN ESTIMATE, kg __| mmnfi ATEIREI 0 3 o s I
INCLUDING A COMPLETION DATE, I MY FINAL BILL WILL EXCEED $100. $50in Maryland)  ** %% ==
| REQUEST AWRITTEN ESTIMATE. THE FINAL BILL MAY NOT EXCEED THIS ESTIMATE s f e 1 sass b s s sy s
WITHOUT MY WRITTEN APPROVAL, Dot il ko, v s . s o
—1DO NOT REQUEST A WRITTEN ESTIMATE, AS LONG AS THE REPAIR COSTS DO NOT  'slen s ey e on e aivevehicetoscue e
EXCEED $ . THE SHOP MAY NOT EXCEED THIS AMOUNT WITHOUT =~ o o S ¢ ,'mfﬂ;}"?i”fﬂﬁ?ﬁ;“
y EROUGHT FORWARD MY WRITTEN OR ORAL APPROVAL.
e L P 85 G| — | DONOT REQUEST A WRITTEN ESTIMATE. SIGNED
. v *Checked lines apply (Preparer must check at least one): DATE
T s e [ e et | oG ) Z 0T
___ This amount includes a charge of $ , which is required under No charges shall acoue o be e and pay- | TOTAL PARTS 735.60
: e S ﬁzt&;gm of 3 working days from date ACCESSORIES ;
{ METHOD OF PAYMENT: GAS, OIL, & GREASE PRICE y GAS, OIL, & GREASE
D CASH D CHECK D TARGE FREGE p T GUARANTEED ITEM(S) QUTSIDE REPARS
| | LaBon aTS. oL @ STORAGE FEE (if applies)
LIRNROE Liosk [;j:om LBS.GREASE @ nwl:wm v X o bAe pon s 50.¢5
Yol e TOTAL ACCESSORIES | A CJReranpaars  [IOESTROYPARTS | ToTaL GAS, OIL, & GREASE MILEAGE TOTAL AMOUNT 13¢.25)




(RS e AR A PHONG WAL ['Sy LABOH CHA
7 B CHARGE
ADDRESS ?/?-//‘ LUBRICATION O
ms‘: A,\':‘“AE uc o o — CHANGE OIL S
SCOTTSDALE, AR CHANGE OIL FILTER CART. g
480-236-4301 (MOBILE) MAKE YEAR RECEIVED (DATE & TIME)  AM. CHANGE TRANS. o :
ot 2 % /935 PM. o oonper ] :
SERIAL #VIN ENGINE NO PROMISED (DATE & TIME)  AM. :
' " sttt el i L PM. PACK FRONT WHEEL BRGS ] L
ALL PARTS NEW UNLESS SPECIFIED: U-USED, R-REBUILT, RC-RECONDITIONED l Clves [Ino e -
0 Mv# ORDER WRITTEN BY CUSTOMER'S ORDER NO. ROTATE TIRES I :
. WASH POLISH O
7 OPER. NO 0 STATE INSPECTION O y
7 %MGLVZG’/ 20w 7? CHARGE FOR HAZARDOUS OR OTHER WASTE REMOVAL* } i
T éf S Repaoe 2l fopr (alihep [Pocnkel poliodoed 5
g7 . _%Lgd ploptanl ¢+ A PeAly
leeale 2 m 2o
Y oot 7: -~
¢ e Lomaswms /0¥
i e g : @;L v palee Casdad
: /WWWMT; SHezp Freras (Cas)
(eS| &earet L /3 |7
Ik y z i ‘MV&A/M/;?&W&O] 5‘1&&? rmee . Mw
Mo Loy Soptin— x obe; |20 [un Tt prwe + Ayuat
: Estimated cost §. Estimate Charge
pssw o Erlmrrwe Dna ok Wbt Dises efe . @ﬁf,u_,{,. 232,5hwe 2762, 50
PLEASE READ CAREFULLY, CHECK ONE OF THE STATEMENTS BELOW, AND SIGN: ﬁ”;”;::’fa%*ciig vl - s s e
OUTSIDE REPAIRS :#g&%ﬂﬁgg]g TmT, UNDER STATE LAW, | AM ENTITLED TO A WRITTEN ESTIMATE, vk ___ | 0 G e 1 of a1y o e st
- 3 ; r sring the authorized repairs.
S " \C0r e e e ZEET
oot (e Bibes p, nte| [ T2 0 WITHOUT MY WRITTEN APPROVAL. rers e 2 o s B e e
Lhoprttandle /6%. __1DO NOT REQUEST AWRITTEN ESTIMATE, AS LONG AS THE REPAIR COSTS DO NOT it e siowesor e e e
P awd Fedadt 07 @ EXCEED $ . THE SHOP MAY NOT EXCEED THIS AMOUNT WITHOUT e e o et g e
i o RG] MY WRITTEN OR ORAL APPROVAL. o by
i TOTAL PARTS. 156195 — | DO NOT REQUEST A WRITTEN ESTIMATE. SIGNED
*Checked lines apply (Preparer must check at least one): DATE
| N T T 7%
t —— This amount includes a charge of $ , which Is required under m?esas:am uaose ?j;;;ﬁ TOTAL PARTS w‘ " y{
law. :?:o ::: :;r/f'oc of 3 working days from date ACCESSORIES
uhcator <
Emug: on&}wgﬁk i GAS, OIL, & GREASE PECE. ke o GAS, OIL, & GREASE 3o, v
- s GAS.GAS @ 30]ov| OUTSIDE REPAIRS
CJFLAT RATE (] HOURLY E] BOTH ::s&;tm : GUARANTEE EFFECTIVE UNTIL it biad. i 3;7/' g o’I
s b : TAX
Lo Fae TOTAL ACCESSORIES Al CIReTAIN PARTS [ DESTROY PARTS | ToTAL GAS, OIL, & GREASE PN :::AGE TOTAL AMOUNT K‘ 240 ,73




i

s 72 v ) (T
ADDRESS “721‘/ f elwen g// g// a LUBRICATION] O . CHRGE

8 6901 E.v Rd 3D AUTHORIZED NAME CHANGE OIL O
Scom?ale. 8.‘5?“514 Vi CHANGE OIL FILTER CART. [_]
m mm1 MAKE a‘ 4 | OR M%-—— vt77 2 gl RECEVED (DATE & TIME) AN CHANGE TRANS. g
SERIAL #/VIN ENGINE NO. 3 PROMISED (DATE & TIME)  AM. b gt f
PM. PACK FRONT WHEEL BRGS [ :
D ODOMETER LICENSE NO. TERMS PHONE WHEN READY ADNST BRAKES O] g
ALL PARTS NEW UNLESS SPECIFIED: U-USED, R-REBUILT, RC-RECONDITIONED Clyes [Ino ¥
QTY. | PART NO A — - MV# ORDER WRITTEN BY CUSTOMER'S ORDER NO. ROTATE TIRES 0 |
: - Y, WASH POLISH Eil ;

OPER. NO RUCTIO STATE INSPECTION | P,

(2vplT Q’?’ cell 24 ’VW 2éy CHARGE FOR HAZARDOUS OR OTHER WASTE REMOVAL® i

;;‘” MJ/-&AZ’ Bio 2 sl B0 Dais
¢ v Aetpce! splosy Calers f

J2bnl I R 2Ll

oOtL Rt

Lo ﬂ:/ﬂﬁrv/w M..‘/ e /{ﬂ' ysi®/ P ,cw LPrasnese wdﬂr% e |Syrte ay
20/50 Castre toft | |\ 5E CE Pluios Iin Elay BoOre r !

Pt Free e INSSPU Seas Betlhs o 2rel b Leciled EpescteTlr

/pw/,@f,w 2o & _ 24 4#::;7? - Newpik Sallos, /S0 X MW&/_};

| S5 hrs 7o Fal & €5 pads sa
Estimated cost $ Esti Charge

Basis for Charge H
PLEASE READ CAREFULLY, CHECK ONE OF THE STATEMENTS BELOW, AND SIGN: R v T o G i e o
USRS 3 | UNDERSTAND THAT, UNDER STATE LAW, | AM ENTITLED TO A WRITTEN ESTIMATE, e, | o e B oy o e s ol

; ‘ INCLUDING A COMPLETION DATE, IF MY FINAL BILLWILL EXCEED $100. ($50 in Marylang) 0" =

Py CLean | REQUEST AWRITTENESTIMATE. THE FINAL BILL MAY NOT EXCEED THIS ESTIMATE s .1 s e o s, o i s
FpCearch  B2Sw WITHOUT MY WRITTEN APPROVAL. Tt | e O eOES  l
purpose of testing, inspection, and delivery at my risk. An express mechan-

___ DO NOT REQUEST A WRITTEN ESTIMATE, AS LONG AS THE REPAIR COSTS DO NOT  ienis ety iesion e o e s e s
EXCEED $ . THE SHOP MAY NOT EXCEED THIS AMOUNT WITHOUT (B e bt | ol st i b gt b sy

9 MY WRITTEN OR ORALAPPROVAL.
BROUGHT FORWARD A
R ot ? ng 590)/z] — DO NOT REQUEST AWRITTEN ESTIVATE SIGNED

0 A OR PR
- *Checked lines apply (Preparer must check at least one): DATE

_ This charge represents costs and profits to the motor vehicle repair facility for & SmEe s R ) 3
miscellaneous shop supplies or waste disposal. Efro:?t;ecfy; ;oah:swgenmrs\o S:: TOTAL LABOR 4@7 ’ O
— This amount includes a chargeof S __, which is required under No charges shall accrue or be due and pay-| TOTAL PARTS /Z-
OIS, S L. ] __law. able for a period of 3 working days from date
droticabn. A ACCESSORIES
METHOD OF PAYMENT: GAS, OIL, & GREASE PRICE | GAS,OI, &GREASE
[Jcasi  [CJcHeck  [C] CHARGE - GUARANTEED ITEMS)
i GALS. GAS @ : OUTSIDE REPAIRS 3 2 ;' o
LABOR :
QTS. OIL @ § STORAGE FEE (if applies)
AT RATE [CJHOURLY [C]BOTH t GUARANTEE EFF :
: : H LBS.GREASE @ 1 e YOI TAX o ZZ
@_e":sewensn /73869 TOTAL ACCESSORIES g [CIRETAIN PARTS ] DESTROY PARTS TOTAL GAS, OIL, & GREASE T MALEAGE TOTAL AMOUNT y/ /‘ “‘g




o e > (F
< A .
WO W Tobn T ullo Lon S (o
6901 E. G:? Rd. - i o CHANGE OIL O
m«ao 901-4801 CHANGE OIL FILTER CART. [ i
{ 238-4301 MAKE TYPE OR YEAR RECEIVED (DATE&TIME)  AM. CHANGE TRANS. OJ :
/29 Us. 4 yae %/0»« j‘ VI8 PM. oL O]
SERIAL #VIN ENGINE NO. PROMISED (DATE & TIME)  AM. T e (o :
PM. ]
D ODOMETER LICENSE NO. TERMS PHONE WHEN READY ADJUST BRAKES 0
ALL PARTS NEW UNLESS SPECIFIED: U-USED, R-REBUILT, RC-RECONDITIONED i ORDER TENBY Dﬂmm |EFE£E NO. ROTATE TIRES D .
. winllr .1 i % WASH POLISH O |
/2 /bjf J 7 /6 4 OPER. NO RUCTIO STATE INSPECTION & | 5
oy § 2w L/l oS & CHARGE FOR HAZARDOUS OR OTHER WASTE REMOVAL* L)
£ ,"’Z’” (=4 CAr bl ro~r , L grelion , Chacses
Lrasrole V[ pe
P —
7~ ;z//ﬂ)’f on @/71‘9’? rAP A 7D
LA 2 /m/,ff CAhHAS e 5 ¢ mewscre=
Clenr F e re 37 Cogreberafvomn¥7v 5
( /. Sear Zr,/ /Q( L flwr —"T
Estimated cost §. Estimate Charge
Basis for Charge
PLEASE READ CAREFULLY, CHECK ONE OF THE STATEMENTS BELOW, AND SIGN: :‘:;@“:“ﬂ;‘;mlm"w’;ﬁ meﬁmg
OUTSIDE REPAIRS | UNDERSTAND THAT, UNDER STATE LAW, | AM ENTITLED TO A WRITTEN ESTIMATE, :m o 0 A 6 R T ALL e ps h
INCLUDING A COMPLETION DATE, IF MY FINAL BILL WILL EXCEED $100. ($50 in Maryland) W m:w WZ:W BN
| REQUEST AWRITTEN ESTIMATE. THE FINAL BILL MAY NOT EXCEED THIS ESTIMATE s et e s reom% wth an?m
WITHOUT MY WRITTEN APPROVAL. o g m&&ﬁg’u mgm me;gdeme’g:n”
| DO NOT REQUEST A WRITTEN ESTIMATE, AS LONG AS THE REPAIR COSTS DO NOT i ienis erety acknomiedged on the abovevehicetosecue te amount
EXCEED $ . THE SHOP MAY NOT EXCEED THIS AMOUNT WITHOUT o o s e
eassemoly appled
o O BROUGHT FORWARD MY WRITTEN OR ORAL APPROVAL.
TOTAL PARTS " X0 — | DO NOT REQUEST A WRITTEN ESTIMATE. SIGNED
: = *Checked lines apply (Preparer must check at least one): DATE
T Moo spspies v g [ et vk e o] A AR 2R oo
— Thisamount includes achargeof $ ___, which is required under No charges shall accrue or be due and p:f, TOTAL PARTS é
law. m ‘;r ;‘ ):rw of 3 working days from date ACCESSORIES
E]ncx: OF pgr;{s:g( Lol GAS, OIL, & GREASE PRCE | e :ms) GAS, OIL, & GREASE /5 iso
GALS. GAS @ /S @ OUTSIDE REPAIRS
LABOR :
[CJrarraTE [JHOURLY []BOTH L . ; GUARANTEE EFFECTIVE UNTIL: STOONS: ST o)
: LBS.GREASE @ e TAX ;7
@T‘wmmn /7-3869 TOTAL ACCESSORIES )U:] RETAINPARTS  [[] DESTROY PARTS | TOTAL GAS, OIL, & GREASE MILEAGE TOTAL AMOUNT //Z 7. 3%




Rolls-Royce Phatom I, 43TA

To Start from cold:

Hand Throttle to bottom [Shut] Early/Late [Advance/Retard] to bottom([late]

Ignition on to M&B [ Magneto & Battery] ————————

Hold Cold Start [Choke] on Anti-Clockwise Press Starter Button 1

When engine is running lift Early/Late towards Early

Slowly release ‘choke’ and lift Hand throttle to give a smooth idle.
To switch off bring Hand throttle and Early/Late to bottom of quadrant

AND switch ignition to OFF.




Oils / pressures for Phantom 2 43TA

Engine oil 20/50 14pt 8litres

Gear box 20/50 7pts 4litres

Overdrive unit ATF As req

Rear Axle 90 gear oil 2pts 1.1litres

Power Steering ATF As req

Chassis Lube system 30 or 40 S.A.E. As req

Dampers ATF As req

Steering Box Millers Worm oil As req

Water Pump Water pump Grease As req

Tyre pressures Front 40psi 2.75bar
Rear 40psi 2.75bar




mE

MILFORD VINTAGE ENGINEERING LTD

The Garage, Main Street, Kirkmichael, by Blairgowrie, Perthshire PH10 7NT
Tel: 01250 881223 Mobile 07979 355426 Email: ianmilford@vintage-engineering.co.uk
Registered in Scotland No SC284987

JTulloch

10603 Royal Porthcawl Drive
Naperville

[1linoise 60564

USA

Ph (630) 842 7303

Details
ROLLS-ROYCE Phll 43 TA

SPARE PARTS

Fan belt

D16 Spark plug

Rotor arm (LB 060)

Contact breaker points set-L B0O50
Condenser, RR (LB092/RM 34570)

HT Coil, DLB 101 (11040)

Jaguar fuel filter element (fleetguard FF4012)
Inlinefuel filter (WK42/1)

Facet fuel pump

Wiper blade 9" hook on

Wiper rubber peg

Split pin (assorted sizes)

1 1/2" (38mm) Radiator Hose, per inch
1 1/4" (32mm) dia Radiator Hose, per inch
1 1/8" (28mm) Hose, per inch

Jubilee Clip, size 35 (1)

Jubilee clip, size 40 (1X) (S/stedl)
Jubilee Clip, size 50 (2A)

1/4" BSF Set Screw x 1"

1/4" BSF Set Screw x 2"

Invoice 2002
VAT Reg No: 865 7730 83
02/05/2013
Job No 192
Hrsg/Qty  Unit Price Net
1.00 11.06 11.06
12.00 3.85 46.20
1.00 53.26 53.26
1.00 56.70 56.70
1.00 19.16 19.16
1.00 24.60 24.60
1.00 3.46 3.46
1.00 1.96 1.96
1.00 89.97 89.97
2.00 5.20 10.40
2.00 0.32 0.64
90.00 0.08 7.20
12.00 0.30 3.60
8.00 0.24 1.92
4.00 0.23 0.92
2.00 1.76 3.52
4.00 1.94 7.76
2.00 2.19 4.38
10.00 0.17 1.70
10.00 0.25 2.50



Details

1/4 BSF Set Screw x 3"

1/4" BSF Nut

1/4 BSF Nyloc Nut

1/4" Plain Washer

1/4" Spring Washer

5/16" BSF Set Screw x 1"
5/16" BSF Set Screw x 2"
5/16" BSF Set Screw x 3"
5/16" BSF Nut

5/16 BSF Nyloc Nut

5/16" Plain Washer

5/16" Spring Washer

3/8" BSF Set Screw x 1"
3/8 BSF Set Screw x 1 1/2"
3/8" BSF Set Screw x 2 1/2"
3/8" BSF Nut

3/8 BSF Nyloc Nut

3/8" Plain Washer

3/8" Spring Washer

2BA Set Screw 1", r/head brass
3BA Set brass screw, roundhead, x 1"
2BA Brass Nut

3BA Nut, brass

Bulb, 380

Bulb, 382, 12v21w

Bulb, 207

Fuse wire card

5/16 Gland packing, per inch
19" Inner tube

19" Rim Band

Invoice

VAT Reg No: 865 7730 83

02/05/2013
Job No 192

Hrs/Qty

6.00
30.00
10.00
30.00
30.00
10.00
10.00
10.00
30.00
10.00
30.00
30.00
10.00
10.00
10.00
30.00
10.00
30.00
30.00
10.00
10.00
10.00
10.00

2.00

2.00

1.00

1.00

6.00

2.00

2.00

Unit Price
0.65
0.02
0.13
0.02
0.02
0.22
0.25
0.65
0.03
0.12
0.03
0.03
0.23
0.13
0.16
0.04
0.25
0.03
0.03
0.26
0.26
0.20
0.14
0.46
0.43
0.34
1.30
0.34

33.28
5.15

2002

Net
3.90
0.60
1.30
0.60
0.60
2.20
2.50
6.50
0.90
1.20
0.90
0.90
2.30
1.30
1.60
1.20
2.50
0.90
0.90
2.60
2.60
2.00
1.40
0.92
0.86
0.34
1.30
2.04

66.56
10.30



Invoice 2002
VAT Reg No: 865 7730 83

02/05/2013
Job No 192
Details HrgQty  Unit Price Net
TOOLS

3 piece adjustable wrench set 1.00 10.90 10.90
BA open-ended spanner set 1.00 18.70 18.70
Pliers, 3 piece set 1.00 8.57 8.57
Screw drivers, 7 piece set 1.00 23.39 23.39
Hammer 1.00 7.78 7.78
C Spanner/adjustable hook wrench 1.00 34.31 34.31
Plug spanner 1.00 6.49 6.49
7 piece Socket set, BSW/BSK 1.00 14.95 14.95
Ratchet (3/8" drive) 1.00 14.29 14.29
3 piece extension set (3/8" drive) 1.00 6.49 6.49
Breaker bar (3/8" drive) 1.00 10.39 10.39
RR Hub grease cap spanner 1.00 150.80 150.80
RR Rear hub nut spanner 1.00 150.80 150.80
Courier to USA 1.00 168.00 168.00

Total Net Amount 1,100.49

_ : : Total VAT 0.00

Terms: Payment within 7 days of receipt of Invoice
Please make cheques payableto MVE Ltd or alternatively Invoice Total 1,100.49

pay directly to
MILFORD VINTAGE ENGINEERING LTD

Sort code:82-61-05 Acccount No: 20050946 Page 3



Parts Included in 43TA Sale 2022:

1. Spare parts and tools for Touring as supplied by Milford Engineering (list enclosed).

2. Car cover.

3. Comprehensive history files (digital).

4. Town cap for radiator.

5. Original Invoices for work done on 43TA 2005-2009 by Milford Engineering, including major
engine rebuilt and renovation, including photos of the work.

6. Copy of the Handbook of the 40/50 HP Rolls-Royce Number IX.

7. Original Handbook of Instructions for the 40-50 H.P. Phantom Il. Number VI.



	Artisan Auto #5 111218.pdf
	Service Records.pdf
	Artisan Auto #3 482016.pdf
	Artisan Auto #2 4142015.pdf
	Artisan Auto #1  1312015.pdf
	43TA Starting Routine.pdf
	43TA Fluids, etc..pdf

